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The permeter of a paralielogram withsides o, b, cand d is

[cloxbxcxd (b] a+ btctd (€] Blo+b+c+d
[d) “laoxbxcxd]

2. ﬁﬁﬁﬂammﬂﬂmﬁmﬁuﬁﬂﬁm

which of the following inert gasis not present in air

|a] frcera Crypton b} g Neon
(¢] T Radon [cf) A& Xenon

3, H AT W OHEAY. .. & & Global Warming' i related te

|| #ifFE=T Oxygen (b] ETE2rEe Hydrogen
[c) AEaa Nitrogen \d) Fae sEdEEEs Corbon dioxide

4 LPSCT W awTd & LPSC' stands Tor

[a] Lquid Propulsion and Scientific Centre
I} Liguid Propulsion Systems Centre

e} Liquid Propulsion and Satellite Cenire
ld] Liquid Propellant Systems Centre

s Peatatam e @ e s e ) aeeE S

Identify o flarmmable gos from the following tist

la) grEetas Hydrogen o) 3fEaaA Oxygen
(c] A=A Nitrogen (o) awde arsHErgs Corbon dioxids
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7% ot & & amiie Ice foals In waler, because

(o) T% 2 & Itis solid

(b] T ot & Fmar e ¥ 1tis colder than water

|c] &t @ geea 19 | ®A & Density of ice is less than water
(] sHam Bovd &w 8 FUET § | denser than water

s @1 wi @ i dEem & B aeems 89 §

wWhich property of water is benefiting fire fighting #

[a) 359 gdcd High density ib) Z=9 @ High freedng point
(c) 3eu g8 &1 High surface tension(d] =9 FaueE High boling point
efRm At R aw & wd af

which of the foliowing is not g unit of pressure £

(a] Ka/cm® [b) Kg/fSec (c) Pascal |d| Bar

Caatatta § & ot 7 & e 3w g @ s e ©
Among the fallowing which is widely used for fire highting E
la|@EE FAHEEES Corbon monoxide

(o) FTa= SE3iEEEE Corbon dioxide

lc) am=gtee Nilrogen

icl) FIfFET Oxygen

'PELV H ATewd R OPELY stands for

lai] Propulsion and Satelite Launch Vehicle
Ib| Folar Satellite Launch Vehicle

[c] Planar Satellite Launch Vehicle

[d} Popular Satellite Launch Vehicle

gz T e & B few swaRm @ s e SR §

Which is the equipment used for measuring Atmosphernic presiure g

(o) dreede Voltmeter

] TeaaEeEr Golvanometer
(c) #XEET Borometer

(d) wHAEHET Thermometer

fefafEs # & o afeg fig o ¢
which ot the folicwing is not an inert gos 2

()@@ Helium ] JAFHE Xenan
[c] W=l Neon [d) #=sids Hydrogen
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TNEH o0 3 geeg Density of coconut ol is

la) 7@ & oUEy BE § Same os walsr
b W ¥ T BAT & Loss than water
o] 3 & 3w 2en B More than woter
ld| & & AT Eer ¥ Doubls than water

FA @i & Water bolls at
la) 212°F (o] 100°F lc] 32°F (] 108°F

FE AW IF FTT E A7 TEE AOAE
Whean waler reszes iis volume

o) wZaT & Decrecses o} T & Incregses
|c) =g oftaes @8 No change
[d] 10% &# & e & becomes less by 10%

TS Wiet o9 &1 81 251 © One litre of woter welghs

[a} 1000 gms (e} 1200 gms () 700 gms {d) BDO grms
TS HTETeR et SrEe dew 12m o« 8m kI Bw feas dwE & R
@i FTEIgEaT B

Find out the iength of the fencing needad for g reclongulor plot of size
12m % 8m

[a) $6m (k) 48m lc) 40m id) 20m

fFaas w1 Fwaa P @ § Oxygen is represented as
la) 0 ib) O3 le] O id) OH

v g foed ge¢ 0001 mm @4 1000 mm ¥ @ ™ ¥R @A o
g 0.5 mmagr 2 mmE :
One rectangle with sides 0.001 mm and 1000 mm and another rectangle
with sides 0.5 mm and 2 mm has
(o) &=Teh H@TT BIETa a9 H¥eo oET §
Different arsa and differant penmeier
|bizwen #weT Biawe aur "EE oiEy E
Different greg ond same perimeter
(c|&eds TAE S9FA J9 7EE o §
Same areq and same perimeter
|d} &7k BHE SFFe g1 e oA &

iome areq and differen! padmeatsr
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4cm TUTR & U VI @ Fas g
valurne of o sphere with ciometer 4Cm 5

(a] 28811 em?® b} T44 [T em?® (g] 36Tlem? (d] BW4Ilem?

4 HET 1 2cm TITE OTR FE & HEEs & A &
Volumeas of two hemispheres with diameters écm and 12cm arein fne rafio

fa) 1.4 (] 1.8 ) 1.9 [c} 1 :12

uﬁﬂﬁﬂrﬁ#ﬂm@ﬁ:ﬁﬁmm#mmm az 7 B
It the diameter of o sphers s doubled, the velume Incregses Ry

(o) 29AT fimes (o) 4 AT fimes
{e) & T fimes (d] 67=07 fimes |

ofy Spd TATE @ WTEEE 125 cm® E & SHE wedw Ha g

If fhie volumie of cubeld s 125 cm, then its 2ach side Is
(@) &mm ib] 50 mm (e} BGO'mm [d] 28 mm

(PG & qot ze=r & FArw o & Foee o ) e T E

PG reguires following quanfity of air for the complets combustion

(o] o TS @t 20 TF 20 Hmes its velume
o) MO HWaEE @ 30 e 30 fmes s volums
(¢) ¥ HOEe & 40 TE 40 times its volume
id] o TR @ 50 T 50 times ifs volume

i # weREE Ta @ 9 e 32 pd fEu & oY T G & e
alr pressure n on outomoble tyre reads 32 psi in the gouge. The absolute
prassurein the tyre is

(@) 32 psi (B] 337 ps (c) 46,7 psl id} 74 psi

o e @ FeE S & et ¥R d9 § Was @ e fw
Ratic of volumes of a sghere and o cylinger of same rodius ond same
height Is

(] 112 () 2:3 ) -3:2 () 2:1
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I5f1.x12ﬁﬂ#mﬁﬂﬁﬁﬁ%m#lmﬂﬁﬂiﬁﬁﬁﬂm

2. x 2. % @ FFeet ome Y smovTerar 9eh 2

Flooring Is 1o be done In @ room of size 15#. x 12 1. How many files are
required if the size of each tile is 211, x 2 1. 2

[a] 90 MNos. (D) 40 Nos. (c] 45 Mos. {d) 180 Nos,

Brm T AU 10m FETE & A9 o TORT B
Volume of o cylinder with diameter 8m and helght 10m is

[a) 140 nmA (] B mm? [c) 440 nre? id) 320 nm?
UF g8 UGN & Perimeter of o circle is
fay2md () md {c) n® () Y r?

U T @ gl BT E Surface area of a sphere is

fal2ne (b} 4me (e} Yam () 3famm 2

LPG & ¥ad: SOaT o9 ... . & &7 g ¥

Auto ignition temperature of LPG is within

@) 220-230°C (b] 310-400°C [c1410-580°C

(d] 420-800°C

T ot Fud wuat ov argeimd cm wd wee @ g &
Almaospheric pressure ot elevated placeis ... ... ... at saq leval

(@) SEET greater than (D] & less than

(c] 9 same as (d) &I S twice higher than

3m WA, 2 m HEE A 2 m Sun & W ) uF WEawT ady ot
SR A o = o

A rectangular fank of size 3m length, 2m width and 2m height is half filled
with water. The velume of water in the tank is

(a) &m? o) 12m? {c] 24 m? idy 8m?

U TR TAEST ITUW 16 o AU FUE 12 cmik, i avTwer A
Area of a triangle with base 14 em and height 12 cmis

lal 48 cm? (B 192cm? [c] P4 cm? d] 28 cm?



35

37.

3B.

3%

470,

al.

42,

b
Aer & ww Al B A F WS e aven UF U4F a9 a9 a9 9 4
s gl
Waxin the shope of a Sphere is mode inlc a Cone of same radius (] of the
sphere. Then the height (h] of the cone is
(@) h=4r by h=2r lc] h=r (d) h=r?

v Aot e T car 2 m ¥ @ TAwd qub green 22,000 WX B oS
it & Farg T s

If o cylindrical water tank having full copacity of 22.000 ltrs.. with a diomele
of 2m. Then the height of the tank is

lal 12M (b] 7M (c] FM (d] 4M

‘o' 3 arel Fay @ Rt g
The diagonal of a square with side ‘'a’ is
[a) of b} o2 (c) 2a id) 4a

FTerE T AT F1AT §
Hurman blood pressure is measured in

(a] -kg/mm?* (B] psi
(c) mm of mercury{dr) [d) OrFRd pascol
| Water

[a) T FdET g7 ¥ is o compressible liquid

(k) T JHI'IE‘E}'I 29 B 5 anincompressible liquid

[c) 3Oe HIUEE @ i2% WUET ¥ s compressible up to 12% of its velume
(d) 5§ ade & e & wdifEa T o o & Bed s A

Can be compressed to the shape of the vessel. It contains

v wAg Fige # A= e A E

In an equilaieral triangle, the three angles are

[a) &0° 30° and #0° (] 455 90° and 45°
[ch 605 40° and &0F (d]  40° 100° ond 40°

argHEs # AEgiaE B A uieE ¥

The percentage of Nitfrogen content in atmaosphere is
la] 78% (b) 21%  (c] 28%  (d} é4%

O 4FT A9 A € Absolute zero temperature i3

g} 0*C (b} 32°F (o) 27IISC ld] -273.15°C
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W ate o T iy T % 'Laughing Gas' is

(a] amgs= Mifrogen [b) T M= Nitc oxide
<] STEER HFHEE Nikous oxide  (djAEDEE TEAHFAES Nitrogen diokide

oo W THEE® g7 & Chemical formula for wiater is
() O (b] HO [} MOy {d] HO:

S HA & SUSET B OF AYAE & oC 3 guer S
Temperature in °F Is converted in to °C using the formulo

(a) {°F x5/ =32 (b] [Fx%) <32
() (9F =32) x5 id) [PF —32) x3/s

'PH A T AR & O e &

what do you mean by 'pH'E I megsures

(o] FEgEE &1 ufaws Percentogs of Hydrogen

o) FFeTaTr ar el & B3 Degree of acidity or alkalinity
{c} B T Horse power

(d)3m@ataer §1 B3t Degree of precipitotion

'pH'$m$fﬁuﬁmﬁ#ﬁmﬁﬁaﬁammﬂﬁﬂﬁﬁ

Which of the following statement Is not tue for ‘pH' measurement 2

lalpHe #e 0 | 14 & & 2 & oH value rangss from 0 to 14

(D) pH & 0 3 Hoehaar R & pH value of ‘0 indicates very acidic

| FrEEm srge dr wiEe e e 29 2he o sem pH A& 3gar &
A g

Higher the h'ydragen ion concentratian, higher is the pH vaiue in the
scale,

(d| Ferie Fraas @ PH®E 7 861 pH value of neuiral solufion is 7.

wie wfhe & o wihe & T wore

During short circuit, the electric current in the circull
(o] aFa ®H & T & reduces substanfially

(b) oRada 78 ST does nat change

lc} BeR gewa T & vary continuously

(B TR T8 0 & increases heavily
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'CNG" & aead & 'CNG' stands for

(al Combustible Natural Gas (o] Compressible Natural Gas
(€] Compressed Natural Gas d)] Corrosive Naturol Gas

wmﬁwﬁmwﬂ.bmc#.mmrﬁrmm

In & right angled triangle with sides a. b and <, the length
of the hypolenuse Is

la} ¥ [a?+ci) b} g%+ c? cla+e |d) va+ie
A
FeAriht offear a7 o & s Enclothermic reaction is one in which

|b) AT G27 Bht & Heot is produced

(b} FEAT T Bt B Heatis absorbed

[c) F%AT JaE = Wl § Heat s maintained same

(dl ¥RFT Fgor tey @F £ insoluble salls are produced,

fooelt s & aeamer o e & argary @) e #

Ratio of mass and volume af g pody is termed as

(o) BTRIE ateg Specific gravity (o) BfE smae=r Specific valume
{c) faflre gememe Specific mass (d) T5eT Denslity

sw & for T d d ol ool ag
Which of the following Is not true for “water'
(@) FF PE MY TIET ¥ I is colouress and odouress
(B) S Fau=® 100° C & its boiling pointis 100°
c) ¥® a7 & Fardr driz a4 &

It is not a thermally stable compound
d) TF Teg & welft et & v s 3

It exists in all three states of matier

TE I S E Dy ice’ s
|o|g=iHET 77 Solidified waler(b) g8E 3P Solld ammania
[c] = AT Solid Urea [d) 89 Fee sEsErEEs Solid carbon dioxic

WPG'® gau dt fRBm g ats o e 78 & Which of the following
5 not true for "LPG®

(o) 27 ¥9 & Efh Agfy &1 sm & it s supplied in liquid form

(D) FHEAT HUAT UF A WA E 1 hos smell of s awn

[C) &9 & 950a 77 & 00 3T wrar &
The density of the liguid is almost half of waler

d] @E arg @ a1t &4 & 1is heavier than air
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s & & fea acat o vul=s 2ea & oo smasgs &

Wnich of the Tollowing combination of elements are essential
for combustion

(o) 9. F@ 7@ a1 Fuel, water and air

(c)$u=T, FWT U FF Fuel, heat and water

(c) 8y, WiitrasTs AYT @ Fuel, oxygen ond heal
(d] FEAT, @ 9 & Heatl, air and watsr

g ... &1 waTs & Hectricity is the flow ol

()& - Pratans |b) AT Hectrons
lc) =ggia Neutrons id) 591 & @1% @ None

F07 ¥ AT I F HEd § Angles less than $0° s called
(o] =gFHT Acute angles (o) #ERT Obtuse angles

(c) ®#HSIT Right angles |d) YEE @ Supplementary angles
T o §ar & One Litre is

[a) 100 Cubic m. (B} 100 Cubdc ems,

[¢] 1000 Cubie m, id) 1000 Cubic crms.

L H‘Hﬂﬂ'lf B & Ansosceles tiangle has

(o] &1 HaT HAE S ® Two sides equal

(b) = HAT wana BN E Three sides equal

(c) e Hior g3 B & Three angles equal

(cl] 2Y =or 30° 3T 40° @ € Two angles are 30° and &0°

SReee



